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BPE MIC1 Microeconomics 1 — Fall Semester 2011

Final Exam - 12.12.2011, 9:00-10:30 a.m. Test B

Guidelinesand Rules:

1. The test setup has 8 pages. It is your respititystb check that you have all the
pages.

2. The time limit is 90 minutes.

3. The exam is worth 50 points.

4. You are NOT allowed to use any books or notes.

5. Any violation of academic honesty will be puradho the fullest extent possible.
6. At most one exam-taker is allowed to be outthi@eroom at one time.

7. Write the answers to thigl-the-gaps, true/false andmultiple-choice questions in the spaces
corresponding to the respective questions in thepssheet.

8. When readysubmit the filled setup sheet wityour name written on the first page.

This exam will count for 50% of your final gradern the course. Good luck!

Fill the gaps
Complete each statement.

1. arises because a singledn supply a good or service to an entire maake
a smaller cost than could two or more firms.

2. If a firm produces nothing, cost hdlzero.

3. demand curves are summed horiotdgalbtain the demand curve.

4, refers to the businessigganf selling the same good at different priaes t
different customers.

5. Economists say that an economy has a/an when comparing its productivity in a
market relative to another economy.

6. tend to have inelastic demands;eabe have elastic demands.

7. A strategy is one that is beghfplayer, regardless of what strategies ottereps follow.

8. describes a situation iohdmregulated market is unable to allocate resesur
efficiently.

9. Firms that produce a quantity below the effitiecale are said to have

10. The marginal product of an input times the@of the output gives

True/False
Indicate whether the statement is true or false.

11. Monopolists can achieve any level of profit thegide because they have unlimited market power.

12. All else equal, an increase in demand will causmarease in producer surplus.
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The shape of the total cost curve is related tskiae of the production function.

Surpluses drive price up while shortages driveepdown.

Labor supply curves are always upward sloping.

For a firm operating in a perfectly competitive uisty, marginal revenue and average revenue amd.equ
Positive statements can be evaluated using date dboit normative statements cannot.

A production possibilities frontier is a graph tishbws the combination of outputs that an econdroylsl produce.
If a firm is facing elastic demand, then the firhoald decrease price to increase revenue.

The indifference curves for perfect substitutessairgight lines.

Multiple Choice
I dentify the choice that best completes the statement or answers the question.

21.

22.

23.

24.

Figure13-9
The figure below depicts average total cost fumdifor a firm that produces automobiles.
Average
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Refer to Figure 13-9. Which of the curves is most likely to characterilze short-run average total cost curve of the
smallest factory?

a. ATC, c. ATCc

b. ATCg d. ATCp

Refer to Figure 13-9. The firm experiences economies of scale at wbidput levels?
a. output levels less than M

b. output levels between M and N

C. outputlevels greater than N

d. All of the above are correct as long as the firmgsrating in the long run.

Refer to Figure 13-9. In the long run, the firm can operate on whiclhef following average total cost curves?

a. ATC, c. ATCc

b. ATCg d. All of the above are correct.

What will happen in the rice market now if sellespect higher rice prices in the near future?
a. The supply of rice will increase. C. The supply of rice will be unaffected.
b. The supply of rice will decrease. d. The demand for rice will decrease.
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25. A family on a trip budgets $800 for meals and hatdommodations. Suppose the price of a meal isl§i40
addition, suppose the family could afford a toti@@ mights in a hotel if they don’t buy any meatew many meals
could the family afford if they gave up two niglisthe hotel?

a. 1 c. 5
b. 2 d 8

26. When the local used bookstore prices economicssab®15.00 each, it generally sells 70 books pertim If it
lowers the price to $7.00, sales increase to 9&bper month. Given this information, we know tte price
elasticity of demand for economics books is about
a. 2.91, and an increase in price from $7.00 to $1880Qlts in an increase in total revenue.

b. 2.91, and an increase in price from $7.00 to $18e80Qlts in a decrease in total revenue.
C. 0.34, and an increase in price from $7.00 to $1880Qlts in an increase in total revenue.
d. 0.34, and an increase in price from $7.00 to $1Ee80lts in a decrease in total revenue.

27. When Sam has an income of $1,000, he consumesit3figood A and 50 units of good B. After Saimsome
increases to $1,500, he consumes 60 units of goandA5 units of good B. Which of the followingtgments is
correct?

a. Both goods A and B are normal goods.
b. Both goods A and B are inferior goods.
C. Good A is a normal good, and good B is an infegiood.
d. Good A is an inferior good, and good B is a norgwdd.

28. Table 17-17. Consider a small town that has two grocery stirmea which residents can choose to buy a gallon of

milk. The store owners each must make a decisi@ett@a high milk price or a low milk price. The pétable,
showing profit per week, is provided below. Thefjirim each cell is shown as (Store 1, Store 2).

Store 2
Low Price High Price
Store 1 Low Price (500, 500) (800, 100)
High Price (100, 800) (650, 650)

Refer to Table 17-17. If grocery store 2 sets a high price, what priveutd grocery store 1 set? And what will
grocery store 1's payoff equal?

a. Low price, $800 C. Low price, $100

b. High price, $650 d. High price, $800

29. Refer to Table 17-17. What is the Nash Equilibrium of this price-settiyjmme?
a. Grocery store 1: Low price
Grocery store 2: Low price

b. Grocery store 1: Low price
Grocery store 2: High price
Cc. Grocery store 1: High price
Grocery store 2: How price
d. Grocery store 1: High price
Grocery store 2: High price

30. A monopolistically competitive firm faces the folling demand curve for its product:

Price (%) 10 9 8 7 6 5 4 3 2 1
Quantity 2 4 6 8 10 12 14 16 18] 20

The firm has total fixed costs of $20 and a cortstearginal cost of $5 per unit. The firm will maxiza profit with
the production of

a. 6 units of output. C. 10 units of output.

b. 8 units of output. d. 12 units of output.
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Figure 7-15
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Refer to Figure 7-15. Assume demand increases and as a result, equitifice increases to $22 and equilibrium
guantity increases to 110. The increase in prodsizgrius would be

a. $210. C. $480.

b. $360. d. $570.

Refer to Figure 7-15. The efficient price is

a. $22, and the efficient quantity is 40. Cc. $16, and the efficient quantity is 80.
b. $22, and the efficient quantity is 110. d. $8, and the efficient quantity is 40.

Refer to Figure 7-15. If 110 units of the good are being bought and stbieln

a. the marginal cost to sellers is equal to the matgialue to buyers.

b. the marginal value to buyers is greater than theyimal cost to sellers.

Cc. the marginal cost to sellers is greater than thegimal value to buyers.

d. producer surplus is greater than consumer surplus.

Suppose that a toxic waste spill renders half efldmd in New Jersey uninhabitable. Assuming tad land labor
are complements in the production function, whatilddappen to the wages earned by workers and eamtgd by
landowners?

a. Both wages and rents would increase.

b. Both wages and rents would decrease.

C. Wages would increase, and rents would decrease.

d. Wages would decrease, and rents would increase.

Assume the market for pork is perfectly competiti#hen one pork buyer exits the market,
a. the price of pork increases. c. the price of pork does not change.
b. the price of pork decreases. d. there is no longer a market for pork.

Dallas buys strawberries, and he would be willmgay more than he now pays. Suppose that Dallaa bhange in
his tastes such that he values strawberries marettéfore. If the market price is the same as befben

a. Dallas's consumer surplus would be unaffected.

b. Dallas's consumer surplus would increase.

c. Dallas's consumer surplus would decrease.

d. Dallas would be wise to buy fewer strawberries thefore.
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37. A monopolist faces the following demand curve:

Price Quantity
$51 1
$47
$42
$36
$29
$21
$12

N0 WIN

The monopolist has total fixed costs of $60 andehesnstant marginal cost of $15. What is the profiximizing
price?

a. $4 c. $36

b. $39 d. $42

38. A likely example of substitute goods for most peowbuld be
a. peanut butter and jelly.
b. tennis balls and tennis rackets.
C. televisions and subscriptions to cable televisenvises.
d. pencils and pens.

39. Table 13-4
Gallo Cork Factory

Output
Number Number corks Marginal
of of pr(oduced Prodgct of Cost of COSt.Of Total
Workers | Machines | per hour) L abor Workers Machines Cost
1 2 5
2 2 10
3 2 20
4 2 35
5 2 55
6 2 70
7 2 80

Refer to Table 13-4. Each worker at Gallo's cork factory costs $12tgrir. The cost of each machine is $20 per
day regardless of the number of corks produce@alfo's produces at a rate of 35 corks per houatvethe total
labor cost per hour?
a. $40 Cc. $384
b. $48 d. $424

40. Refer to Table 13-4. Assume Gallo's currently employs 5 workers. Wiidhe marginal product of labor when
Gallo's adds a 6th worker?
a. 5 corks per hour C.
b. 15 corks per hour d.

25 corks per hour
70 corks per hour
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Scenario 21-1
Suppose the price of hot wings is $10, the priceesf is $1, and the consumer’s income is $50ddiitian, suppose
the consumer’s budget constraint illustrates hagion the horizontal axis and beer on the verégas.

Refer to Scenario 21-1. If the price of beer doubles to $2, then the
a. budget constraint intersects the vertical axissalb@ers.

b. slope of the budget constraint rises to -2.

C. budget constraint intersects the vertical axisO& leers.

d. budget constraint shifts inward in a parallel fashi

Refer to Scenario 21-1. If the consumer's income rises to $60, then thegbulhe for hot wings and beer would
a. now intersect the horizontal axis at 6 orders dfitiags and the vertical axis at 60 beers.

b. not change.

C. now intersect the horizontal axis at 4 orders dfitiags and the vertical axis at 16 beers.

d. rotate outward along the beer axis.

Holding all other factors constant and using thdpuint method, if a pencil manufacturer increageslpction from
40 to 50 boxes when price increases by 20 perttett,supply is

a. inelastic, since the price elasticity of supplgéal to .91.

b. inelastic, since the price elasticity of supplgégial to 1.1.

C. elastic, since the price elasticity of supply isi@dgo 0.91.

d. elastic, since the price elasticity of supply isi@do 1.1.

The following diagram shows one indifference cumgresenting the preferences for goods X and orer
consumer.

y
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What is the marginal rate of substitution betweeim{s A and B?
a. 2/5 c. 52
b. 1 d 3
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45, Table 16-2
The following table shows the total output produbgdhe top six firms as well as the total industogput for each
industry.
Firm Industry A Industry B Industry C Industry D
1 13,250 8,750 1,750 15,000
2 10,975 7,500 1,725 14,000
3 8,175 6,400 1,700 13,000
4 4,275 5,000 1,675 12,000
5 1,250 4,250 1,650 11,000
6 875 4,000 1,625 10,000
Total 45,350 70,900 30,125 120,000

Refer to Table 16-2. Which industry has the lowest concentration ratio?

a. Industry A C. Industry C

b. Industry B d. Industry D
46. Refer to Table 16-2. Which industry is the most competitive?

a. Industry A C. Industry C

b. Industry B d. Industry D

47. Consider a competitive market with 50 identicainfir Suppose the market demand is given by theiequ@® =
200 - 10P and the market supply is given by theaggn G = 10P. In addition, suppose the following tableveh
the marginal cost of production for various leva@i®utput for firms in this market.

Output Marginal Cost
0 -
1 $5
2 $10
3 $15
4 $20
5 $25

How many units should a firm in this market prodtmenaximize profit?
a. 1unit Cc. 3units
b. 2 units d. 4 units
48. Which of the following might cause the supply cufeean inferior good to shift to the right?
a. Anincrease ininput prices.
b. A decrease in consumer income.
Cc. Animprovement in production technology that magesduction of the good more profitable.
d. A decrease in the number of sellers in the market.
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49. The market for diamond rings is closely linkedhe market for high-quality diamonds. If a largeqtity of
high-quality diamonds enters the market, then

a.

the supply curve for diamond rings will shift riglathich will create a shortage at the current price
That will increase price, which will decrease qitgrdemanded and increase quantity supplied.
The new market equilibrium will be at a higher praend higher quantity.

the supply curve for diamond rings will shift rigkathich will create a surplus at the current price.
That will decrease price, which will increase qitgrdemanded and decrease quantity supplied.
The new market equilibrium will be at a lower praed higher quantity.

the demand curve for diamond rings will shift riglvhich will create a shortage at the current
price. That will increase price, which will decreaguantity demanded and increase quantity
supplied. The new market equilibrium will be atigher price and higher quantity.

the demand curve for diamond rings will shift rigivhich will create a surplus at the current price.
That will decrease price, which will increase qitgrdemanded and decrease quantity supplied.
The new market equilibrium will be at a lower prixed higher quantity.

50. Which of the following would be most likely to caifitute to the breakdown of a cartel in a naturabtece (e.g.,
bauxite) market?

a.
b.
C.
d.

high prices

low price elasticity of demand

high compatibility of member interests

unequal member ownership of the natural resource
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Answer Section
COMPLETION

1. ANS: Natural monopoly

PTS: 1
2. ANS: variable

PTS: 1
3. ANS: Individual, market

PTS: 1
4. ANS: Price discrimination

PTS: 1
5. ANS: absolute advantage

PTS: 1
6. ANS: necessities, luxuries

PTS: 1
7. ANS: dominant

PTS: 1
8. ANS: Market failure

PTS: 1
9. ANS: excess capacity

PTS: 1
10. ANS: value of the marginal product

PTS: 1
TRUE/FALSE

11. ANS: F PTS: 1 DIF: 2

TOP: Monopoly MSC: Interpretive
12. ANS: T PTS: 1 DIF: 2

TOP: Producer surplus MSC: Applicative
13. ANS: T PTS: 1 DIF: 2

TOP: Total-cost curve | Production function
14. ANS: F PTS: 1 DIF: 2

TOP: Shortage | Surplus MSC: Interpretive
15. ANS: F PTS: 1 DIF: 2

TOP: Labor supply MSC: Interpretive
16. ANS: T PTS: 1 DIF: 2

TOP: Average revenue | Marginal revenue

REF: 15-0
REF: 7-2
REF: 13-2
MS6terpretive
REF: 4-4
REF: 18-2

REF: 14-1
MSCerpretive

Test B
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ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:

T PTS: 1 DIF: 2 REF: 2-2
Positive statements | Normative statements C:MS8terpretive
F PTS: 1 DIF: 2 REF: 3-1
Production possibilities frontier MSC: Intezfive

T PTS: 1 DIF: 2 REF: 5-1

Total revenue | Price elasticity of demand SQV Applicative
T PTS: 1 DIF: 1 REF: 21-2
Perfect substitutes MSC: Applicative

MULTIPLE CHOICE
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22.

23.
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25.
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31.

32.

33.

34.

35.

36.

37.

38.

39.

ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
MSC:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:

TOP:

ANS:

TOP:

ANS:

TOP:

ANS:

TOP:

ANS:

TOP:

ANS:

TOP:

ANS:

TOP:

A PTS: 1 DIF: 1 REF: 13-4
Average total cost MSC: Analytical

A PTS: 1 DIF: 2 REF: 13-4
Economies of scale MSC: Analytical

D PTS: 1 DIF: 1 REF: 13-4
Average total cost MSC: Analytical

B PTS: 1 DIF: 2 REF: 4-3
Expectations MSC: Applicative

C PTS: 1 DIF: 3 REF: 21-1
Budget constraint MSC: Applicative

C PTS: 1 DIF: 2 REF: 5-1
Midpoint method | Total revenue | Price aétégtof demand
Applicative

C PTS: 1 DIF: 2 REF: 21-3
Normal goods | Inferior goods MSC: Applicativ

A PTS: 1 DIF: 2 REF: 17-2
Game theory MSC: Applicative

A PTS: 1 DIF: 2 REF: 17-2
Nash equilibrium MSC: Applicative

A PTS: 1 DIF: 3 REF: 16-2
Profit maximization MSC: Applicative

D PTS: 1 DIF: 3 REF: 7-3
Producer surplus MSC: Applicative

C PTS: 1 DIF: 1 REF: 7-3
Efficiency MSC: Applicative

C PTS: 1 DIF: 2 REF: 7-3
Efficiency MSC: Applicative

D PTS: 1 DIF: 3 REF: 18-4
Land markets MSC: Analytical

C PTS: 1 DIF: 2 REF: 4-1
Perfect competition MSC: Applicative

B PTS: 1 DIF: 2 REF: 7-1
Consumer surplus MSC: Interpretive

C PTS: 1 DIF: 3 REF: 15-2
Profit maximization MSC: Applicative

D PTS: 1 DIF: 2 REF: 4-2
Substitutes  MSC: Applicative

B PTS: 1 DIF: 2 REF: 13-2
Variable costs MSC: Applicative
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43.

44,

45,

46.

47,

48.
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50.

ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:
ANS:
TOP:

B PTS: 1
Marginal product

A PTS: 1
Budget constraint

A PTS: 1
Budget constraint

D PTS: 1

DIF: 2
MSC: Applicative
DIF: 2
MSC: Applicative
DIF: 1
MSC: Applicative
DIF: 2

Midpoint method | Price elasticity of supply

B PTS: 1
Marginal rate of substitution

C PTS: 1
Concentration ratio

C PTS: 1
Concentration ratio

B PTS: 1

Profit maximization

C PTS: 1
Technology MSC: Analytical
B PTS: 1
Equilibrium  MSC: Analytical
D PTS: 1
Cartels MSC: Interpretive

DIF: 3

MSC: Analytical
DIF: 3

MSC: Applicative
DIF: 3

MSC: Applicative
DIF: 3

MSC: Analytical
DIF: 3

DIF: 3

DIF: 2

REF:

13-2

REF: 21-1

REF: 21-1

REF:
MSC: Analytical
REF:
REF:
REF:
REF:
REF:
REF:

REF:

5-2

21-2

16-1

16-1

14-2

4-3

4-4

17-1



